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Exam 2, 9:10-10:25
Linear Algebra, Dave Bayer, March 27, 2012

[1] Let V be the vector space of all polynomials f(x) of degree < 2. Find a basis for the subspace W
defined by

f(1) = 0.
Extend this to a basis for V.

Usua) basis fov =3 x5 x 4%
V= fax+bxsc| e (@bo)e R3

{00 = ax+bx+C
Q)= a+bt+c =0  defmes a e\cme n R
dmMm=2, exprd 2 basis vectsR

ndepense ¢ (1)-1,0) £ X=X 'gw

ot M (0,\,\) & x—=1
6%‘;‘05 (G,0,1) & 1 extends o V

X
basic, fov X—
\V/

calwlgtions

Use l noM|ql
g basis fov \W ho\ﬂ)ow fov answey
vectey wﬂvmm
oh\ fov
m*e(meémie



Exam 2, 9:10-10:25, March 27, 2012

[2] By least squares, find the equation of the form y = ax + b which best fits the data
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[3] Let V be the subspace of R® spanned by the vectors
(1,1,1,0,0), (0,0,1,1,1).

Find an orthogonal basis for the subspace V.
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[4] Using Cramer’s rule, solve for z in
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[5] Let V be the subspace of R* consisting of all solutions to the system of equations

EERIHEH!

Find the matrix A which projects orthogonally onto the subspace V.
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